Upori v izmeniénem elektricnem tokokrogu
vezje tok in napetost upornost in mo¢
prevodnost
Iyl | = Riow P=U-I
‘ I R I P=P-R
R ‘ == = ,=0° P_U2
v "R
Iy ' 1=Xi X =2n-f-L Q=U-I
L
X, 2 =90 | Xi=w-L
Y 7 (induktivni)
w ! =— Xo= i =U-1I
_L ) Xc ¢ 2n-f-C -
P =Ug-I
s al‘ QL=UL‘1
P S =U-I
Sz*P2+QL2
QL
tanpe 2L
an ¢ B
! QL
SN = —-; COS¢p =
¢ =g ®
P P =U-Iy
4 Q=U-1]
S Ls =u-1I
§2=pP2+Q?
Q.
{ang =k
an ¢ B
sing =9¥' COS¢=B
S S
P P =Ug-I
S ac Qc=Uc-1
S =U-1
o U2 = Ug? + Uc? 72=R? + Xc? $2=pP2 + Qc?
c_—l tang =%§ tan<p=% tan<p—QFC
sing =%; cos<p=%5 sin(p=)%; cosw=g Sin{p=%c‘,' cos:p=§




